
Chapter 8.3 Frequency Tables and Histograms - Answer Key 

 
1a.   
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1c. bimodal 

 

 

 

2a.  

 

 

 

 
 
 
 
 
 
 
2b. 

 

 

 

 

 

 

 

 

 

 

 

2c. normal 

 



 

Chapter 8.4, 8.5 - Descriptive Statistics and Variation - Answer Key 

 

 

1. The first set because there is more variability in the numbers. 

 

 

2. They have the same standard deviation since the differences among the data items 

remains alike in both sets. 
 

 

 

3a.  

 

 

 

 

 

 
 
 
 
Mean: 7 
Median: 6 
Range: 9 
 
Divide the total on the (Data - Mean)2 column by n – 1 (n: is the sample size) 
56

6 − 1
=

56

5
= 11.2 

 
Take the square root of the result above that equals standard deviation  

√11.2 ≈ 3.35 
 

3b. 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
Mean: 5 
Median: 4 
Range: 12 
 
 
 

Data: x Data – Mean: x - 𝐱̅ (Data - Mean)2 : (x - 𝐱̅)2 

6 6 – 7 = -1 (-1)2 = 1 

6 6 – 7 = -1 (-1)2 = 1 

10 10 – 7 = 3 (3)2 = 9 

12 12 – 7 = 5 (5)2 = 25 

3 3 – 7 = 4 (4)2 = 16 

5 5 – 7 = -2 (-2)2 = 4 

                                                                                 Total: 56 

Data: x Data – Mean: x - x̅ (Data - Mean)2 : (x - x̅)2 

4 4 – 5 = -1 (-1)2 = 1 

0 0 – 5 = -5 (-5)2 = 25 

3 3 – 5 = -2 (-2)2 = 4 

6 6 – 5 = 1 (1)2 = 1 

9 9 – 5 = 4 (4)2 = 16 

12 12 – 5 = 7 (7)2 = 49 

2 2 – 5 = -3 (-3)2 = 9 

3 3 – 5 = -2 (-2)2 = 4 

4 4 – 5 = -1 (-1)2 = 1 

7 7 – 5 = 2 (2)2 = 4 

                                                                Total: 114 



Divide the total on the (Data - Mean)2 column by n – 1 (n: is the sample size) 
114

10 − 1
=

114

9
= 12.6 

 
Take the square root of the result above that equals standard deviation  

√12.6 ≈ 3.6 
 

 

3c. 

 

 

 

 

 
 
 
 
Mean: 6 
Median: 6 
Range: 0 
 
Divide the total on the (Data - Mean)2 column by n – 1 (n: is the sample size) 
0

5 − 1
=

0

4
= 0 

 
Take the square root of the result above that equals standard deviation  

√0 ≈ 0 
 

 

3d.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 

Data: x Data – Mean: x - x̅ (Data - Mean)2 : (x - x̅)2 

6 6 – 6 = 0 (0)2 = 0 

6 6 – 6 = 0 (0)2 = 0 

6 6 – 6 = 0 (0)2 = 0 

6 6 – 6 = 0 (0)2 = 0 

6 6 – 6 = 0 (0)2 = 0 

                                                                Total: 0 

Data: x Data – Mean: x - x̅ (Data - Mean)2 : (x - x̅)2 

47 47 – 43.3 = 3.7 (3.7)2 = 12.69 

45 45 – 43.3 = 1.7 (1.7)2 = 2.89 

24 24 – 43.3 = -19.3 (-19.3)2 = 372.49 

56 56 – 43.3 = 12.7 (12.7)2 = 161.29 

76 76 – 43.3 = 32.7 (32.7)2 = 1069.29 

12 12 – 43.3 = -31.3 (-31.3)2 = 979.69 

                                                                Total:  

 
 
 
Mean: 43.3 
Median: 46 
Range: 64 
 
Divide the total on the (Data - Mean)2 column by n – 1 (n: is the sample size) 
2598.34

6− 1
=

2598.34

5
= 519.668 

 
Take the square root of the result above that equals standard deviation  

√519.668 ≈ 22.8 



4. a. mode 
b. mean 
c. median 
d. mean 

 
5. a.  mean 4.57,  median 4,  mode 4 

b.  only the mean is affected; it becomes 5 
 

6. The $1000 increase results in a $1000 increase in the mean but the s remains the 
same since the spread of salaries does not change. The 3% increase causes a 3% 
increase in the mean and in the s since the spread is now wider from top to bottom 
salaries. 

 

7. First State has more consistent service because its standard deviation is lower 
meaning there is less variation in waiting times. 

 


